1. Change: If the Distance from Green Line to Arrow (end of candle / beginn next Candle) is
more then XX.X Pips, NO order ist to SET... (Please with True/False)

2. Change:

IN THIS CASE, All order will be Closed if Balance is >=0.

if more signal is comming to set a order (in this example Buy) then is the factor the OLD factor
example:

Factor=1,2

changing faktor = 2

Sell Order: 0,1
sell order 0.12
Sell Order 0,14
Buy Order = (0,1+0,12+0,14) x 2 = 0,36
Buy Order (if signal comes) = 0,36 x 1,2 (old factor) = 0,43
6.7.8.9.  Order and so on... BUT because i have in this construct a ,,direction-
Change*, so all oder have to Close if Balance >= 0

Nk v

Changing Faktor please also with ,,TRUE/FALSE*

3. Change:
IF more then 3 Order is Open in same direction (example: 1. order sell , 2. order sell 3. order
sell) Trailing will be activated.
Trailing Level : ZeroBalanceLevel + X Pips (zeroBalanceLevel means the point where the
Balance of the 3 open orders is 0)



